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âæ×æ‹Ø çÙÎðüàæ	 Ñ	 (i)	 »ýæÈ¤ ÂðÂÚU ·¤è ¥æßàØ·¤Ìæ ãñUÐ

General Instructions	 : 		 Graph paper is required.

		  (ii)	 ·ñ¤Ü·é¤ÜðÅUÚU ·ð¤ ÂýØô» ·¤è ¥Ùé×çÌ ÙãUè´ ãñUÐ

	  		  Use of calculator is not permitted.
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(Õ) ×ð´ çÚU@Ì SÍæÙæð´ ·¤è ÂêçÌü ÌÍæ ¹‡ÇU (â) ×ð´ âˆØ/¥âˆØ çÎ° »° ãñ´UÐ 

ÂýˆØð·¤ ÂýàÙ ÂÚU v ¥¢·¤ ¥æÕ¢çÅUÌ ãñUÐ

			   Question No. 1 has three parts. In Part (A) Multiple choice 
questions, in Part (B) Fill in the blanks and in Part (C) Write 
true /false are given. Each question carries 1 mark.

		  (iv)	 ÂýàÙ ·ý¤×æ¢·¤ w âð { Ì·¤ ¥çÌ Üƒæé-©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU w ¥¢·¤ 

¥æÕ¢çÅUÌ ãñ´UÐ

			   Question Nos. 2 to 6 are very short answer type questions. 
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ÂýàÙ-v	 (¹‡ÇU-¥) âãUè çß·¤ËÂ ¿éÙ·¤ÚU çÜç¹° Ñ			 

	 (Part-A) Choose and write the correct option :

	 (i)	
sin º

cos º

45

45
 ·¤æ ×æÙ ãUæð»æ Ñ			   [1]

		  (¥)	 1	 (Õ)	 2

		  (â)	
1

2
	 (Î)	 –1

		  The value of 
sin º

cos º

45

45
 will be :

		  (a)	 1	 (b)	 2 	

		  (c)	
1

2
	 (d)	 –1	

		  (v)	 ÂýàÙ ·ý¤×æ¢·¤ | âð v® Ì·¤ ¥çÌ Üƒæé-©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU x ¥¢·¤ 

¥æÕ¢çÅUÌ ãñ´UÐ

			   Question Nos. 7 to 10 are very short answer type questions. 
Each question carries 3 marks.

		  (vi)	 ÂýàÙ ·ý¤×æ¢·¤ vv âð vy Ì·¤ Üƒæé-©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ×ð´ ¥æ¢ÌçÚU·¤ 

çß·¤ËÂ ãñUÐ ÂýˆØð·¤ ÂýàÙ ÂÚU y ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ

			   Question Nos. 11 to 14 are short answer type questions. Each 
question has an internal choice. Each question carries 4 marks.

		  (vii)	ÂýàÙ ·ý¤×æ¢·¤ vz °ß¢ v{ Üƒæé-©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ×ð´ ¥æ¢ÌçÚU·¤ 

çß·¤ËÂ ãñUÐ ÂýˆØð·¤ ÂýàÙ ÂÚU z ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ

			   Question Nos. 15 and 16 are short answer type questions. Each 
question has an internal choice. Each question carries 5 marks.

		  (viii)	ÂýàÙ ·ý¤×æ¢·¤ v| °ß¢ v} Îèƒæü-©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ×ð´ ¥æ¢ÌçÚU·¤ 

çß·¤ËÂ ãñUÐ ÂýˆØð·¤ ÂýàÙ ÂÚU { ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ

			   Question Nos. 17 and 18 are long answer type questions. Each 
question has an internal choice. Each question carries 6 marks.
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	 (ii)	 â×è·¤ÚU‡æ çÙ·¤æØ ·¤æ ¥çmÌèØ ãUÜ ãUæð»æ, ØçÎ Ñ	 [1]

		  (¥)	
a
a

b
b

c
c

1

2

1

2

1

2

= ≠ 	 (Õ)	 a
a

b
b

1

2

1

2

¹

		  (â)	 a
a

b
b

1

2

1

2

= 	 (Î)	 §Ù×ð´ âð ·¤æð§ü ÙãUè´	

		  A unique solution of system of equations is obtained, if :

		  (a)	 a
a

b
b

c
c

1

2

1

2

1

2

= ≠ 	 (b)	 a
a

b
b

1

2

1

2

¹

		  (c)	 a
a

b
b

1

2

1

2

= 	 (d)	 None of these	

	 (iii)	  ÕãéUÂÎ 4 4 3 3
2x x+ +  ·ð¤ àæê‹Ø·¤æð´ ·¤æ »é‡æÙÈ¤Ü  ãUæð»æ Ñ	 [1]

		  (¥)	  
1

3
	 (Õ)	 3

		  (â)	  
3

4
	 (Î)	

3

4

		  The product of the zeroes of the polynomial 4 4 3 3
2x x+ +  will be :

		  (a)	  
1

3
	 (b)	 3

		  (c)	  
3

4
 	 (d)	 3

4

	 (iv)	 tan(90º – 60º) ·¤æ ×æÙ ãUæð»æ Ñ			   [1]
		  (¥)	 0	 (Õ)	 1

		  (â)	 3 	 (Î)	
1

3
	

		  The value of tan(90º – 60º) will be :
		  (a)	 0	 (b)	 1

		  (c)	 3 	 (d)	
1

3
 

	 (v)	 18 ¥æñÚU 6 ·¤æ ÌëÌèØæÙéÂæÌ ãUæð»æ Ñ			   [1]
		  (¥)	 2	 (Õ)	 3

		  (â)	 108	 (Î)	
1

3

		  The third proportional of 18 and 6 will be :
		  (a)	 2	 (b)	 3

		  (c)	 108	 (d)	
1

3
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ÂýàÙ-v	 (¹‡ÇU-Õ) çÚU@Ì SÍæÙæð´ ·¤è ÂêçÌü ·¤èçÁ° Ñ			 

	 (Part-B) Fill in the blanks :

	 (i)	 ÚðU¹æ 4 3 2 5 0x y− + =  ·¤è Âýß‡æÌæ ——— ãñUÐ			   [1]

U 		  The slope of line 4 3 2 5 0x y− + =   is ____.

	 (ii)	 çÕ‹Îé (0, 5) ——— ¥ÿæ ÂÚU çSÍÌ ãñUÐ			   [1]

		  Point (0, 5) lies on ____ axis.

	 (iii)	 ç·¤âè ÃØç@Ì ·ð¤ âÖè âæÏÙæð´ âð ÂýæŒÌ ¥æØ ÂÚU Áæð ·¤ÚU Ü»æØæ ÁæÌæ ãñU, ——— 

·¤ãUÜæÌæ ãñUÐ			   [1]

		  The tax which is levied on a person’s income from all sources 

is called ____.

	 (iv)	 çàæÿææ ©UÂ·¤ÚUU ——— ÂÚU Ü»æØæ ÁæÌæ ãñUÐ 		   	 [1]

		  Educational cess is payable on ____.

	 (v)	  Ò p ¥¢ÌÖæüß qÓ ·¤æð »ç‡æÌèØ ·¤ÍÙ ·ð¤ M¤Â ×ð´ çÜ¹ð´»ð p ——— qÐ	 [1]

		  ‘p implies q’ will be written in the form of mathematical 

statement p ____ q.

ÂýàÙ-v	 (¹‡ÇU-â) âˆØ ¥Íßæ ¥âˆØ çÜç¹° Ñ			 

	 (Part-C) Write True or False :

	 (i)	 â×M¤Â ¿ÌéÖéüÁæð´ ·¤è âÖè â¢»Ì ÖéÁæ°¡ â×æÙ ãUæðÌè ãñ´UÐ	 [1]

		  In similar quadrilaterals all corresponding sides are equal.

	 (ii)	 ¥Ïüßëîæ ÂÚU ÕÙæ ·¤æð‡æ 90º ·¤æ ãUæðÌæ ãñUÐ 			  [1]

		  The angle in semi-circle is 90º.
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	 (iii)	 v âð 10 Ì·¤ ·¤è â¢BØæ¥æð´ ·¤æ Øæð» 55 ãUæð»æÐ		  [1]
		  The sum of numbers 1 to 10 will be 55. 

	 (iv)	 ßëîæ ·¤è âÕâð ÕÇ¸Uè Áèßæ ç˜æ…Øæ ·¤ãUÜæÌè ãñUÐ 		 [1]
		  The longest chord of a circle is called radius.

	 (v)	 ÕðÜÙ ·¤æ ß·ý¤ ÂëcÆU 2prh ãUæðÌæ ãñUÐ   			   [1]

		  Curved surface area of cylinder is 2prh.

ÂýàÙ-w	 ØçÎ ÕãéUÂÎ p(x) = x3 – 5x + 6 ãñU, Ìæð p(0) ÌÍæ p(1) ·¤æ ×æÙ ™ææÌ ·¤èçÁ°Ð U 	 [2]

	 If the polynomial is p(x) = x3 – 5x + 6, then find the values of p(0) and p(1).

ÂýàÙ-x	 ×æÙ ™ææÌ ·¤èçÁ° Ñ	 [2]

			    ¤U
sec

cos ( )

cos

sec( )

θ
θ

θ
θec

ec

90 90°−
+

°− 	

	 Find the value of :

			    ¤U
sec

cos ( )

cos

sec( )

θ
θ

θ
θec

ec

90 90°−
+

°−

ÂýàÙ-y	 ¥æ¡·¤Ç¸Uð 6, 8, 20, p, 6 ¥æñÚU 10 ·¤æ â×æ‹ÌÚU ×æŠØ 20 ãñU, Ìæð p ·¤æ ×æÙ ™ææÌ 

·¤èçÁ°Ð 		   [2]

	 The arithmetic mean of the data 6, 8, 20, p, 6 and 10 is 20, then find 

the value of p. 

 ÂýàÙ-z	 Îæð çÕ‹Îé¥æð´ P(2, 1) ÌÍæ Q(5, 7) âð ÁæÙð ßæÜè ÚðU¹æ ·¤è Âýß‡æÌæ ™ææÌ ·¤èçÁ°Ð   	 [2]

	 Find the slope of the line passing through the two points P(2, 1) and  

Q(5, 7).
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ÂýàÙ-{	 ØçÎ ç·¤âè â×æ‹ÌÚU Ÿæð‡æè ·¤æ ÂýÍ× ÂÎ 9 ÌÍæ âæßü ¥¢ÌÚU –2 ãUæð, Ìæð 8ßæ¡ ÂÎ ·¤æ ×æÙ 

™ææÌ ·¤èçÁ°Ð¤U 	 [2]

	 If the first term of an arithmetic progression is 9 and common 

difference is –2, then find the value of 8th term.

ÂýàÙ-|	 ØçÎ  a : b :  :  c : d  ãUæð, Ìæð çâh ·¤èçÁ° ç·¤  
a c
b d

ac
bd

2 2

2 2
−
−

= .	 [3]

	 If  a : b :  :  c : d,  then prove that   
a c
b d

ac
bd

2 2

2 2
−
−

= .

ÂýàÙ-}	 â×è·¤ÚU‡æ ·¤æð ãUÜ ·¤èçÁ° Ñ	 [3]

		  2x + y = 8

		  x – 2y = – 1		

	 Solve the equations :

		  2x + y = 8

		  x – 2y = – 1

ÂýàÙ-~	 çâh ·¤èçÁ° ç·¤ ç·¤‹ãUè´ ÌèÙ ·ý¤×æ»Ì â× â¢BØæ¥æð´ ·¤æ Øæð» ãU×ðàææ 6 ·¤æ »é‡æÁ 

ãUæðÌæ ãñUÐ  		  [3]

	 Prove that the sum of three successive even integers is always a 
multiple of 6.

ÂýàÙ-v®	 6  âð×è. ÃØæâ ßæÜð ¥Ïü»æðÜð ·¤æ ¥æØÌÙ çÙ·¤æçÜ°Ð 	 [3]

	 Determine the volume of hemisphere having diameter 6 cm.  
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ÂýàÙ-vv	 °·¤ ÕðÜÙ ·¤æ ¥æØÌÙ 3080 ƒæÙ âð×è. ¥æñÚU ª¡¤¿æ§ü w® âð×è. ãñUÐ ÕðÜÙ ·¤æ ß·ý¤ ÂëcÆU 

™ææÌ ·¤èçÁ°Ð 	 [4]

	 Volume of a cylinder is 3080 cm3 and its height 20 cm. Find the area 

of the curved surface. 

¥Íßæ 

OR

	 ØçÎ ç·¤âè àæ¢@ßæ·¤æÚU ·¤Â ·ð¤ ¥æÏæÚU ·¤è ÂçÚUçÏ 22 âð×è. ÌÍæ ª¡¤¿æ§ü { âð×è. ãñU, Ìæð 

©Uâ×ð´ ¥çÏ·¤Ì× ç·¤ÌÙæ ÂæÙè ÚU¹æ Áæ â·¤Ìæ ãñU?

	 If the circumference of base of a conical cup is 22 cm and height is 

6 cm, then find the maximum capacity of the cup.

ÂýàÙ-vw	 çÙ`Ù âæÚU‡æè ·¤æ ÕãéUÜ·¤ ™ææÌ ·¤èçÁ° Ñ	 [4]

ß»æü‹ÌÚU 0-10 10-20 20-30 30-40 40-50 50-60 60-70

¥æßëçîæ 4 8 14 20 30 15 6

	 Find the mode of the following table : 

Class-interval 0-10 10-20 20-30 30-40 40-50 50-60 60-70

Frequency 4 8 14 20 30 15 6

¥Íßæ 

OR

	 çÙ`Ù âæÚU‡æè ·¤è ×æçŠØ·¤æ ™ææÌ ·¤èçÁ° Ñ

ß»æü‹ÌÚU 0-10 10-20 20-30 30-40 40-50 50-60

¥æßëçîæ 8 30 40 9 7 6

	 Find the median of the following table : 

Class-interval 0-10 10-20 20-30 30-40 40-50 50-60

Frequency 8 30 40 9 7 6
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ÂýàÙ-vx	 ©Uâ âÚUÜ ÚðU¹æ ·¤æ â×è·¤ÚU‡æ ™ææÌ ·¤èçÁ° çÁâ·¤è Âýß‡æÌæ 
5

3
 ãñU ÌÍæ ÚðU¹æ, çÕ‹Îé 

(x, ®) âð ãUæð·¤ÚU ÁæÌè ãñUÐ 	 [4]

	 Find the equation of straight line which passes through point (3, 0) 

and whose slope is 
5

3
.

¥Íßæ   /OR

	 ß»æðZ ·¤è °·¤ ÖéÁæ ·¤è ×æÂ ß ©UÙ ß»æðZð¤·ð¤ ÂçÚU×æÂ ·¤æð âæÚU‡æè ×ð´ ÂýÎçàæüÌ ç·¤Øæ »Øæ ãñU Ñ

ß»ü ·¤è ÖéÁæ ·¤è ×æÂ (âð×è.) 0 1 2 3 4 5 6 7

ß»ü ·¤æ ÂçÚU×æÂ (âð×è.) 0 4 8 12 16 20 24 28

		  âæÚU‡æè ·ð¤¤¥æ¡·¤Ç¸Uæð´ âð ¥æÜð¹ ÕÙæ§°Ð	

	 The table below shows the lengths of one side of some squares and 
their respective perimeters :

Length of side of
square (cm)

0 1 2 3 4 5 6 7

Perimeter of square 
(cm) 0 4 8 12 16 20 24 28

		  Draw a graph between the figures given in the table.

ÂýàÙ-vy	 çÎ° »° ç˜æÖéÁ ABC ×ð´, DE || BC ãñU ÌÍæ AB = (2x – 2) âð×è., AD = x âð×è., 

AC = (2x + 1) âð×è., AE = (x + 2) âð×è. ãñU, UÌæð x ·¤æ ×æÙ ™ææÌ ·¤èçÁ°Ð 	 [4]

E

A

D

CB
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	 In the given triangle ABC, DE || BC and AB = (2x – 2) cm, AD = 

x cm, AC = (2x + 1) cm, AE = (x + 2) cm, then find the value of x. 

E

A

D

CB

¥Íßæ 

OR

	 çâh ·¤èçÁ° ç·¤ Õæsï çÕ‹Îé âð ßëîæ ÂÚU ¹è´¿è »§ü SÂàæü ÚðU¹æ¥æð´ ·¤è Ü¢Õæ§Øæ¡ ÕÚUæÕÚU 

ãUæðÌè ãñU¢Ð  		

	 Prove that the lengths of tangents drawn from an external point to a 
circle are equal.

ÂýàÙ-vz	 ÂéÙèÌ Ùð °·¤ Õñ´·¤ ·¤è àææ¹æ ×ð´ Îæð ßáü ·ð¤ çÜ°  300 L¤ÂØð ÂýçÌ×æãU ·¤æ °·¤ ¥æßÌèü 

Á×æ ¹æÌæ ¹æðÜæÐ 4% ßæçáü·¤ µØæÁ ·¤è ÎÚU âð ©Uâð Õñ´·¤ mæÚUæ ç·¤ÌÙè ÏÙÚUæçàæ 

ÂýæŒÌ ãUæð»è?		  [5]

	 Puneet opens a recurring deposit account in a bank branch for two 
years and deposits a monthly installment of Rs. 300. How much will 
he get if the rate of interest is 4% per annum?

¥Íßæ 

OR

	 çßîæèØ ßáü 2013-14 ×ð´ °·¤ àææâ·¤èØ ·¤×ü¿æÚUè ·¤è ·é¤Ü ßæçáü·¤ ¥æØ 

3,60,000 L¤. ÍèÐ ©UâÙð 20,000 L¤. ÁèßÙ Õè×æ ÂæòçÜâè ·¤æ ßæçáü·¤ Âýèç×Ø× ÌÍæ 

4,000 L¤. ÂýçÌ×æãU âæ×æ‹Ø ÖçßcØ çÙçÏ ×ð´ Á×æ ç·¤ØæÐ ÎðØ ¥æØ·¤ÚU ·¤è »‡æÙæ 

·¤èçÁ°Ð 
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		  ¥æØ·¤ÚU »‡æÙæ ·ð¤ Âêßü âæ×æ‹Ø ÖçßcØ çÙçÏ °ß¢ ÁèßÙ Õè×æ ¥æçÎ ×ð´ çÙØæðçÁÌ 

ÚUæçàæ ·¤æ ¥çÏ·¤Ì× 1,00,000 L¤. ·¤ÚU ×é@Ì ãñUÐ 

		  ¥æØ·¤ÚU ·¤è ÎÚð´U çÙ`ÙæÙéâæÚU ãñU¢ Ñ

·ý¤×æ¢·¤ ·¤ÚU Øæð‚Ø âè×æ ¥æØ·¤ÚU ·¤è ÎÚU

1 2,00,000 L¤. Ì·¤ ·¤æð§ü ¥æØ·¤ÚU ÙãUè´

2 2,00,001 L¤. âð  5,00,000 L¤. Ì·¤ 10%

3 5,00,001 L¤. âð  10,00,000 L¤. Ì·¤ 20%

		   çàæÿææ ©UÂ·¤ÚU ÎðØ ¥æØ·¤ÚU ·¤æ 3% ãñUÐ 

	 The income of a government employee in the financial year 2013-14 

was Rs. 3,60,000. He/she deposited Rs. 20,000 as premium on life 

insurance policy and Rs. 4,000 every month in general provident 

fund. Calculate the payable tax.

		  Maximum of Rs. 1,00,000 of savings under general provident 

fund and life insurance, etc. are exempted from tax.

		  The rates of tax are as follows :

S.N. Tax limit Rate of tax

1 Up to Rs. 2,00,000 Nil

2 Rs. 2,00,001 to Rs. 5,00,000 10%

3 Rs. 5,00,001 to Rs. 10,00,000 20%

		  3% of payable tax is education cess.

ÂýàÙ-v{	 ç˜æÖéÁ PQR ·ð¤ ÂçÚU»Ì ßëîæ ·¤è ÚU¿Ùæ ·¤èçÁ°, çÁâ×ð´ QR = 6 âð×è., ÐQ = 65º, 

ÐR = 40º ãñUÐ ÚU¿Ùæ ·ð¤¤ÂÎ Öè çÜç¹°Ð  	 [5]

	 Construct a circumcircle of DPQR, in which QR = 6 cm, ÐQ = 65º, 

ÐR = 40º. Write the steps of construction also.
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¥Íßæ  /OR

	 °·¤ ç˜æÖéÁ PQR ·¤è ÚU¿Ùæ ·¤èçÁ°Ð âæÍ ãUè °·¤ ¥æñÚU ç˜æÖéÁ ABC ·¤è ÚU¿Ùæ 

·¤èçÁ°, çÁâ×ð´ AB = 2
3

PQ ãUæðÐ 	

	 Construct a triangle PQR. Also construct a triangle ABC in  

which AB = 2
3

PQ.

ÂýàÙ-v|	 ç·¤âè ÅUèÜð ·ð¤ àæèáü âð ×ñÎæÙ ×ð´ çSÍÌ Îæð ×·¤æÙæð´, Áæð ÅUèÜð ·ð¤ çßÂÚUèÌ ¥æðÚU ãñU¢, ·ð¤ ÂæÎ ·ð¤ 

¥ßÙ×Ù ·¤æð‡æ ·ý¤×àæÑ 30º ß 60º ãñ´UÐ ØçÎ ÅUèÜð ·¤è ª¡¤¿æ§ü 60 ×è. ãUæð, ÌÕ ×·¤æÙæð´ 

·ð¤¤Õè¿ ·¤è ÎêÚUè ™ææÌ ·¤èçÁ°Ð 	 [6]

	 The angles of depression from the peak of a hill to two houses 

on opposite sides of the hill are 30º and 60º respectively. Find 

the distance between the houses if the height of the hill 

is 60 m.

¥Íßæ 

OR

	 çÙ`ÙçÜç¹Ì âßüâç×·¤æ ·¤æð çâh ·¤èçÁ° Ñ	

		

1

1

1

1
2

+
−

+
−
+

=
cos

cos

cos

cos

θ
θ

θ
θ

θcosec

	 Prove the following identity :

		

1

1

1

1
2

+
−

+
−
+

=
cos

cos

cos

cos

θ
θ

θ
θ

θcosec
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ÂýàÙ-v}	 Îæð ·ý¤×æ»Ì â× ÏÙæˆ×·¤ Âýæ·ë¤Ì â¢BØæ¥æð´ ·ð¤¤ß»æðZ ·¤æ Øæð» 164 ãñUÐ â¢BØæ°¡ ™ææÌ 

·¤èçÁ°Ð  		  [6]

	 Find two consecutive even positive natural numbers, sum of whose 

squares is 164.

¥Íßæ 

OR

	 ØçÎ ç·¤âè â×æ‹ÌÚU Ÿæð‡æè ·ð¤ n, 2n ÌÍæ 3n ÂÎæð¢ ·ð¤ Øæð»È¤Ü ·ý¤×àæÑ S1, S2  ÌÍæ 

S3 ãñ´U, Ìæð çâh ·¤èçÁ° ç·¤

		                     S3 = 3(S2 – S1)	

	 If the sums of n, 2n and 3n terms of an Arithmetic Progression are 

S1, S2 and S3 respectively, then prove that

		                     S3 = 3(S2 – S1)

—×—

1,35,000


